Revision of a Non-Specialised Translation: List of Error Categories for Candidates (English into Korean)

The translation includes errors at word, phrase or sentence level across the following categories:

Error Category Examples of Errors

1. Distortion: An element of meaning in a) Source text: This week the government announced that all public servants would get a pay rise.

the source text is altered in the target . —
roxt & Correct version (1): S 7= EE SF =2 207 QI EICt D O 3= EhHIUCE

. . . c e [y =N =
A distortion can occur in an individual Correctversion (2): O|H FT HE=2E SF =9

o
word, phrase, clause or entire sentence. .
/P ! Incorrect version: § 5 £ Z= SE RS9

—1
= =] =
Incorrect version (ambiguous): 'S 2= O|H F B = SFA=2| 07} Ql &t =ICtn S HEINCTH

(Moving the phrase ‘this week’ changes the time reference from the announcement to the pay rise, thereby
altering the meaning of the target text.)

b) Source text: The witness described the thief as a young man with black hair.
Correct version: S8 At= E52 A2 HE2|o| 2 HH O E HARNCE

o= BARYLE

0_._

Incorrect version: S AAE E52 g2 B2 Hi

(Incorrect translation of the adjective, thereby altering the meaning of the target text.)

2. Unjustified omission: An element of a) Source text: The largest increases in soil carbon levels are obtained in the first 6-8 years after changes in land
meaning in the source text is not management, and after 35 years the rate of change drops to zero.

transferred into the target text. . [
Correct version: EX 2| BtA =F2 EY 2H2|0f BVt U2 T HZ 6-8 @ S 71 3 A S715HH, 35 A

An unjustified omission can occur with
an individual word, phrase, clause or 20|&= Hztg0| )22 EOo{ I
entire sentence.

Incorrect version: EQC| Bt =F2 EQL A2|0f H3 7| U2 F X F6-8 d SCF 7HE A F7t3HCL

(Omission of the underlined clause results in a major loss of meaning in the context of the whole sentence.)
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b) Source text: In cases where a patient has died during or after surgery,

Correctversion: 2tA7t 2 25 22 & 20| AtHSI= B2,
7

Incorrect version: Q‘ﬂ'ﬂ' —JF% %Oﬂ A|'Ec'>F6|'E é—?—,

(Omission of the underlined phrase results in partial delivery of the important circumstantial information of the
relevant clause.)

3. Unjustified addition: An element of Source text: It would guarantee that people leaving the workforce in their mid-60s enjoyed a financially secure
meaning that does not exist in the retirement.
source text is added to the target text. N - o
o - & i Correct version: 60 L S0 2 E|SH= AR S0| 28 = Y HEHo = P El et g = A SE
An unjustified addition can occur with
an individual word, phrase, clause or HEMIUC
entire sentence. - -
Incorrect version: 60 Clf SEH0]| 2 E|[St= AMRS0| 2E| = HOIL 22 4= ol S A EHo = eHEE
MBS S 2 0l 2 HAFHQIC,
(The underlined words were not found in the original text, nor were they implied, and inserting them has a major
impact on the transfer of meaning.)
4. Inappropriate register: Incorrect a) Source text: In a recent judgement, the Criminal Court handed down a three-month suspended sentence.

variety of language or inappropriate
vocabulary for the text type (e.g.
inappropriate level of formality or
informality).

Correct version: JAF HI™ 2 %2 ﬁpe:' OflA 371E &7 01| AL
Incorrect version: @AM B2 x| EVIOIA 3 71 E HAROE M OYCE

(In the legal register, a more formal word is used for ‘judgement’ in the Korean language.)
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b) Source text: Our branch staff can discuss the problem on the spot.
Correct version: —?—E| XH%’ &%%% —E—X'”Oﬂ 'T'.;l"é'H -1 X|'E| 0'”*1 |:||'E g%F_SHEEEI = 9)\%'4 I:|'.
Incorrect version: —?—E| XH%’ &%%% 1 —E—X'”Oﬂ 'T'.;l"é'H -1 X|'E| 0'”*1 |:||'E 0H7|6HEEEI —)lk— 9}'\§|—| I:|'-

(The Korean word for ‘discuss’ in the incorrect translation is not appropriate as it is often used in informal spoken
context.)

c) Source text: This brochure is designed to help you better understand prostate cancer.

Correct version: % ijﬂ}lﬂ'f O:IE‘|—E—O| ﬁ'ﬂﬁ%"% I:‘| Jé" O|-"5H_6£ _)Ik_ 9}'\5% I-'OJEI‘Biﬁ'—I I:|'-

Incorrect version: &= AMXAE SAMO| MEMAS O & Ol &= YT E DO QAL

(When translating a brochure such as this one that is designed to raise the public awareness about an important
health issue, it is more appropriate to use an honorific form of the verb-ending as this is how such brochures are
written in Korean. Also the choice of “you” in the incorrect translation is not appropriate for this register.)

5. Unidiomatic expression: An expression
sounding unnatural or awkward to a
native speaker irrespective of the
context in which the expression is used,
but the intended meaning can be
understood.

a) Source text: Smog is a big problem in many cities.
Correct version: 222 1= Br2 EA[S 0| A HLCIEH 2| O|C,
Incorrect version: 22 1= B2 = A|S0|A CHEHA 9 2| Of C,

(The Korean word for ‘big’ in the incorrect translation does not often come with ‘problem’.)

b) Source text: A good education system will give a better chance of employment.
Correct version: %%Eﬂ IENEs O L2 18 7|32 & A5t}

Incorrect version: %%_‘:’j I'L'J?TX'”EE —T'—%Q| E‘l |—|‘% 7|§|% X‘Il-cT,'—?'D'JEl'_

(The word order in the incorrect translation is not fluent in Korean.)
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6. Error of grammar, syntax: Error in
structuring words, clauses and phrases
of a language. E.g. incorrect word
type/form; incorrect verb tense/form;

agreement error between subject- verb,

noun-pronoun, adjective- noun, etc.

a) Source text: The symptoms include dizziness.
X 2=Zx UL
RN E

—

. =AE =
Correctversmn:s = |

2= 50=

(The relationship between ‘symptoms’ and ‘dizziness’ is expressed ungrammatically in the incorrect translation.)

. = A
Incorrect version: S 'S

b) Source text: You can speak in person to a branch manager.
Correct version: X| = ZHOf| Al 217 O 7| gt == UEL|CL.

Incorrect version: K| =& 0| Al 217 O 7| 2= U & L|C}.

(A space is needed before and after the bound noun “<=".)

c) Source text: He gets up early in the morning.
Correct version: 1= OF&I0f] Y& A0 LtC},

Incorrect version: L= OF&I 0 L& 0O LY.

(The tense is misrepresented in the incorrect translation.)

7. Error of spelling: Error in forming words
with letters or characters. E.g.
misspelling of a word/character,
incorrect capitalisation.

Source text: That case will have to be tried in the Supreme Court.

Correct version: —1 AF{19| XH"L|'o CHE O A R |0 OF &+ ZdO|C},

Incorrect version: 1 Al'?_-l Ol X‘”-'-LI' = H I:I;I-I

(The Korean word for ‘trial’ is misspelled in the incorrect translation.)

RO|A T =0 OF 2 AO|CE.
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8. Error of punctuation: Error in use of
marks that separate sentences and their
elements, and clarify meaning. E.g.
incorrect comma, full-stop, apostrophe,
inverted commas, etc.

Source text: Some people write with a word processor; others write with a pen or pencil.

Correct version: Ot AIZHS 2 QIE ZZMAE 0|2 22 A1, £ Ot Al S 2 HO|L AEE
0|88} 2 2t

Incorrect version: O i AIEIS 2 $JE ZEMAME 0|83 == %Eh £ O AtEF=2 HIO|L}

AT ol 2L 2rt.

(A semicolon is not used in the Korean language. Instead, a full stop or comma is used.)
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